BOARD REVIEW QUESTIONS – SESSION NO. 4  -
November 21, 2002
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. Oxygen 100 ml/min is bubbled through a vaporizer containing an anesthetic with a vapor pressure of 150 mmHg, and this mixture is added to a fresh gas flow of 5 L/min. The delivered anesthetic concentration is

(A)
0.25%


(B)
0.5%

(C)
1%


(D)
2.5%

(E)
5%

90A-77 (7)

2. A 39-year-old patient with insulin-dependent diabetes mellitus receives thiopental 250 mg and succinylcholine 80 mg and is ventilated with 0.75% isoflurane in oxygen. Arterial pressure decreases abruptly from 140/100 to 80/50 mmHg while heart rate remains unchanged at 70 bpm. Failure of heart rate to increase most likely results from

(A)
acute hypoglycemia

(B)
autonomic neuropathy

(C)
depression of sinus node function by thiopental

(D)
depression of the baroreflex response by isoflurane

(E)
ganglionic stimulation by succinylcholine

90A-88 (36,7,9)

3.   Which of the following is an effect of nitrous oxide?

(A) Decreased pulmonary vascular resistance

(B) Depression of uterine contractility

(C) Inhibition of methionine synthetase

(D) Stimulation of lymphocyte chemotaxis

(E)
Stimulation of myocardial contractility

90B-41 (7)

4.
An isoflurane-specific vaporizer that is 25% full is mistakenly refilled with halothane, and the dial is set at 1.5%. Which of the following statements concerning this situation is true?

(A)
The gas mixture will contain equal partial pressures of halothane and isoflurane

(B)
The gas mixture will produce a greater depth of anesthesia than 1.5% isoflurane alone

(C)
The gas mixture will produce a greater depth of anesthesia than 1.5% halothane alone

(D)
The liquid mixture will have a higher vapor pressure than 1.5% halothane alone

(E)
The liquid mixture will have a higher vapor pressure if it is placed in a halothane-specific vaporizer

90B-54 (7)

5.
At induction, the inspired concentration of a volatile anesthetic agent will approach its dialed concentration most rap​idly if

(A)
the anesthetic circuit is made of rubber rather than polyethylene

(B)
the patient breathes more deeply

(C)
fresh soda lime is used

(D)
fresh gas flow rate is increased

(E)
nitrous oxide is added to the inspired gas mixture

91A-99 (7)

6.
The potency of an inhalation anesthetic correlates best with its

(A)
vapor  pressure

(B)
blood/gas partition coefficient

(C)
molar volume

(D)
brain/gas partition coefficient

(E)
oil /gas partition coefficient

91A-130 (7)

7.
In a patient who is to undergo clipping of a cerebral aneurysm, an advantage of isoflurane over nitroprusside for induction of hypotension is

(A)
better maintenance of cardiac output

(B)
better maintenance of cerebral blood flow

(C)
greater decrease in cerebral oxygen consumption

(D)
greater decrease in afterload

(E)
more rapid titration of systemic blood pressure

91A-137 (26,13,7)

8.
 Alveolar partial pressure of an inhaled anesthetic rises more rapidly in a parturient at term than in a nonpregnant woman  because

(A)
functional residual capacity is decreased

 (B)
 PaCO2 is decreased

(C)
uptake of  inhaled agents by tissues is decreased

(D)
cardiac output is increased

(E)
physiologic dead space is increased

91A-154 (42,7)

9.
A 45-year-old patient with chronic alcoholism develops jaundice four days after a cholecystectomy under halothanelmorphine general anesthesia. Bilirubin and alkaline phosphatase are elevated, but SGPT is only slightly above normal. All values were within normal limits preoperatively. The most likely cause of jaundice is

(A)
opioid-induced spasm of the sphincter of Oddi

(B)
hepatic dysfunction secondary to halothane exposure

(C)
worsening of underlying chronic hepatitis

(D)
extrahepatic biliary obstruction

(E)
acute viral hepatitis

91B-61 (34,35,7)

10.
The rate of induction with inhalational agents is more rapid in neonates than adults because of a relatively increased

(A)
cardiac output

(B)
cerebral blood flow

(C)
functional residual capacity

(D)
metabolic rate

(E)
minute ventilation

91B-87 (44,7)

11.
The anesthetic concentration necessary to suppress responses to intubation without muscle relaxation is

(A)
increased in pregnancy

(B) increased by premedication with scopolamine

(C) higher than the concentration required for skin incision

(D) lower at high altitudes than at low altitudes 

(E) the same as that required for electrocautery of gut

92A-110 (7)

12.
The concentration effect is greater with nitrous oxide than with the volatile anesthetics because nitrous oxide

(A)
has a lower blood-gas partition coefficient

(B)
has less effect on cardiac output

(C)
has lower lipid solubility

(D)
is affected less by ventilation-perfusion mismatch

(E)
is used in much higher concentrations

92A-126 (7)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1, 2, 3
1, 3
2, 4
4
All are


only
only
only
only
correct

13. Compared with that in normal children, the rate of induction with inhalation anesthetics is delayed in children with

(1)
patent ductus arteriosus

(2)
transposition of the great vessels

(3)
atrial septal defect

(4)
tetralogy of Fallot

90A-149 (7,20,44)

14. Induction of inhalation anesthesia is more rapid in pregnant women because the

(1)
functional residual capacity is decreased

(2)
blood volume is increased

(3)
minute ventilation is increased

(4)
cardiac output in increased

90A-157 (7,42)

15.
Two volatile anesthetics are identical except that the blood/gas partition coefficient of anesthetic A is 0.5 and that of anesthetic B is 12. True statements concerning these anesthetics include:

(1)
Emergence from anesthesia will be quicker with anesthetic A than with anesthetic B

(2)
At equilibrium, the partial pressure of anesthetic B in the blood will be 24 times greater than that of anes​thetic A

(3)
Hyperventilation will speed induction with anesthetic B more than with anesthetic A

(4)
Circulatory shock during induction will have a greater effect on the alveolar level of anesthetic A than anes​thetic B

90B-173 (7)

16.
The rate of rise of the partial pressure of halothane in arterial blood during induction is increased by

(1)
decreased cardiac output

(2)
increased functional residual capacity

(3)
use of 50% nitrous oxide instead of pure oxygen

(4)
decreased body temperature

91A-34 (7)

17.
The hypoxic ventilatory drive is depressed by

(1)  isoflurane 1.3 MAC

(2)  nitrous oxide 50% exhaled

(3)  halothane 0.2 MAC

(4)  benzodiazepine premedication

91B-163 (22,7,8)

18.
Factors that affect MAC include

(1)
fever

 (2)
thyroid function

(3)
age

(4)
surgical procedure

92A-21 (7)

19 .
True statements concerning the physical properties of nitrous oxide include:

(1)
It is stored as a liquid under pressure

(2)
Its vapor pressure is 750 mmHg at room temperature

(3)
It supports combustion

(4)
It absorbs infrared light

92A-52 (7)

20.
Clinically important attenuation of the ventilatory response to hypoxemia occurs with

(1)
1.5 MAC halothane

(2)
bilateral carotid endarterectomy

(3)
morphine 0.1 mg/kg

(4)
0.1 MAC halothane

92B-131 (22,7)

